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1 Experimentation And Analysis
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Distribution Summary

Distribution: Lognormal
Expression: LOGN(2.91, 3.51)
Square Error: 0.017066

Kolmogorov-Smirnov Test

Test Statistic =0.23
Corresponding p-value >0.15
Data Summary
Number of Data Points =16
Min Data Value =0.61
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Max Data Value =117
Sample Mean =3.02
Sample Std Dev =3.36
Histogram Summary
Histogram Range =0to 12

Number of Intervals =5

*

PROJECT, "Unnamed Project","Rockwell Automation",,,No,Yes,Yes,Yes,No,No,No,No,No,No;

ATTRIBUTES: zamankhedmatfive,DATATYPE(Real):
zamankhedmatfour, DATATYPE(Real):
zamankhedmatone, DATATYPE(Real):
zamankhedmatthree, DATATYPE(Real):
Part index, DATATYPE(Real):
at, DATATYPE(Real):
zamankhedmatseven,DATATYPE(Real):
rt, DATATYPE(Real):
zamankhedmatsix, DATATYPE(Real):
zamankhedmateight, DATATYPE(Real):
zamankhedmatnine, DATATYPE(Real):
zamankhedmattwo,DATATYPE(Real);

VARIABLES: baje se.Numberln,CLEAR(Statistics), CATEGORY ("Exclude"):
baje panj.NumberIn,CLEAR(Statistics),CATEGORY ("Exclude"):
takmil form one.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
baje24.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
takmil form two.NumberIn,CLEAR(Statistics),CATEGORY ("Exclude™):
karshenas hesab enferadi.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):
sabt fish.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
mostamari.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude"):
masol kol hesabhaye enferadi.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
baje 78910.Numberin, CLEAR(Statistics), CATEGORY ("Exclude"):
boss room.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude™),DATATYPE(Real):
sabt fish.NumberOut, CLEAR(Statistics), CATEGORY ("Exclude"):
baje yazdah.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude"):
sabt fish.Numberln,CLEAR(Statistics), CATEGORY ("Exclude"):
bazresi.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude™):
mr tavakoli.NumberOut,CLEAR(Statistics),CATEGORY ("Exclude"):
boss.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude™):
moaven edari mali.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
peymankari.NumberIn, CLEAR(Statistics), CATEGORY ("Exclude"):
mr soheil.NumberIn, CLEAR(Statistics),CATEGORY ("Exclude"):
mostamari.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
officer.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude"):
masol kol hesabhaye enferadi.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude™):
baje tow2.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):
mr heydari.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):
takmil form 4.Numberin,CLEAR(Statistics),CATEGORY ("Exclude™):
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mr tavakoli.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
officer. WIP,CLEAR(System), CATEGORY ("Exclude-Exclude™),DATATYPE(Real):
takmil form two.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):

baje se.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
bank.NumberOut, CLEAR(Statistics), CATEGORY ("Exclude"):

baje tow2.Numberin,CLEAR(Statistics),CATEGORY ("Exclude"):

baje 1.NumberIn, CLEAR(Statistics), CATEGORY ("Exclude"):

baje 78910.NumberOut, CLEAR(Statistics), CATEGORY ("Exclude"):

baje char.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude™):
boss.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):

takmil form one.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):

mr tavakoli.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude"):
bank.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude"):

baje se.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude™):

dabir khane.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):

baje 1.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude™),DATATYPE(Real):

baje 1.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude™):
baje24.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):

baje 78910.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
moshavere.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude"):

takmil form seven.Numberin,CLEAR(Statistics), CATEGORY ("Exclude™):

boss room.Numberin,CLEAR(Statistics), CATEGORY ("Exclude"):

mr heydari.Numberin,CLEAR(Statistics), CATEGORY ("Exclude"):

baje yazdah.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
moshavere.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):

takmil form two.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude™),DATATYPE(Real):
mr soheil.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):
baygani.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):
mostamari.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude™):
officer.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):

moshavere. WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
baje char. WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
baje s.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude"):

takmil form seven.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude™),DATATYPE(Real):
bazresi.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
baje char.NumberOut,CLEAR(Statistics),CATEGORY ("Exclude™):

moaven edari mali.NumberIn,CLEAR(Statistics),CATEGORY ("Exclude™):
peymankari.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):

takmil form 4. WIP,CLEAR(System),CATEGORY ("Exclude-Exclude™),DATATYPE(Real):
baygani.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude"):

dabir khane.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
takmil form six.Numberin,CLEAR(Statistics),CATEGORY ("Exclude™):

baje panj.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
dabir khane.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude"):

karshenas hesab enferadi.NumberIn, CLEAR(Statistics), CATEGORY ("Exclude"):

baje tow2.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
peymankari.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
baje s.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):

baje s.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):

takmil form one.Numberin,CLEAR(Statistics), CATEGORY ("Exclude™):

moaven edari mali.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):

baje panj.NumberOut,CLEAR(Statistics),CATEGORY ("Exclude"):
bank.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude™),DATATYPE(Real):
enterance of building.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude™):
baygani.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude"),DATATYPE(Real):
takmil form six.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):

takmil form six. WIP,CLEAR(System),CATEGORY ("Exclude-Exclude™),DATATYPE(Real):
baje24.Numberin,CLEAR(Statistics),CATEGORY ("Exclude™):

final exit. NumberOut,CLEAR(Statistics),CATEGORY ("Exclude"):

takmil form seven.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude™):

takmil form 4.NumberOut,CLEAR(Statistics),CATEGORY ("Exclude™):
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boss.NumberOut, CLEAR(Statistics), CATEGORY ("Exclude™):

mr heydari. WIP,CLEAR(System),CATEGORY ("Exclude-Exclude™),DATATYPE(Real):

karshenas hesab enferadi.WIP,CLEAR(System),CATEGORY ("Exclude-Exclude™),DATATYPE(Real):
masol kol hesabhaye enferadi.NumberIn,CLEAR(Statistics), CATEGORY ("Exclude™):
bazresi.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude"):

baje yazdah.NumberOut,CLEAR(Statistics), CATEGORY ("Exclude™):

boss room.NumberOut, CLEAR(Statistics), CATEGORY ("Exclude"):

mr soheil. WIP,CLEAR(System),CATEGORY ("Exclude-Exclude™),DATATYPE(Real);

QUEUES: baje yazdah.Queue,FIFO, AUTOSTATS(Yes,,):
moaven edari mali.Queue,FIFO, AUTOSTATS(Yes,,):
baje24.Queue,FIFO, AUTOSTATS(Yes,,):
moshavere.Queue,FIFO, AUTOSTATS(Yes,,):
takmil form six.Queue,FIFO, AUTOSTATS(Yes,,):
boss room.Queue,FIFO, AUTOSTATS(Yes,,):
baje panj.Queue,FIFO,, AUTOSTATS(Yes,,):
takmil form one.Queue,FIFO, AUTOSTATS(Yes,,):
sabt fish.Queue,FIFO, AUTOSTATS(Yes,,):
baje 1.Queue,FIFO, AUTOSTATS(Yes,,):
baje char.Queue,FIFO, AUTOSTATS(Yes,,):
takmil form seven.Queue,FIFO, AUTOSTATS(Yes,,):
takmil form 4.Queue,FIFO, AUTOSTATS(Yes,,):
bazresi.Queue,FIFO,, AUTOSTATS(Yes,,):
takmil form two.Queue,FIFO, AUTOSTATS(Yes,,):
peymankari.Queue,FIFO, AUTOSTATS(Yes,,):
mr soheil.Queue,FIFO, AUTOSTATS(Yes,,):
baje tow2.Queue,FIFO, AUTOSTATS(Yes,,):
officer.Queue,FIFO, AUTOSTATS(Yes,,):
baygani.Queue,FIFO, AUTOSTATS(Yes,,):
baje se.Queue,FIFO, AUTOSTATS(Yes,,):
boss.Queue,FIFO, AUTOSTATS(Yes,,):
mostamari.Queue,FIFO, AUTOSTATS(Yes,,):
mr heydari.Queue,FIFO, AUTOSTATS(Yes,,):
bank.Queue,FIFO, AUTOSTATS(Yes,,):
masol kol hesabhaye enferadi.Queue,FIFO, AUTOSTATS(Yes,,):
karshenas hesab enferadi.Queue,FIFO, AUTOSTATS(Yes,,):
mr tavakoli.Queue,FIFO,, AUTOSTATS(Yes,,):
baje s.Queue,FIFO, AUTOSTATS(Yes,,):
baje 78910.Queue,FIFO, AUTOSTATS(Yes,,):
dabir khane.Queue,FIFO, AUTOSTATS(Yes,,);

PICTURES: Picture.Airplane:
Picture.Green Ball:
Picture.Blue Page:
Picture.Telephone:
Picture.Blue Ball:
Picture.Yellow Page:
Picture.EMail:
Picture.Yellow Ball:
Picture.Bike:
Picture.Report:
Picture.Van:
Picture.Widgets:
Picture.Envelope:
Picture.Fax:
Picture.Truck:
Picture.Person:
Picture.Letter:
Picture.Box:
Picture.Woman:
Picture.Package:
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Picture.Man:
Picture.Diskette:
Picture.Boat:
Picture.Red Page:
Picture.Ball:
Picture.Green Page:
Picture.Red Ball;

RESOURCES: baygan,Capacity(1),,,COST(0.0,0.0,0.0),CATEGORY (Resources), AUTOSTATS(Yes,,):
dabiran,Capacity(2),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
baje 11,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
baje 24,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
moshaveran,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources),, AUTOSTATS(Yes,,):
main person,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources),, AUTOSTATS(Yes,,):
baje 34,Capacity(2),,,COST(0.0,0.0,0.0), CATEGORY (Resources),, AUTOSTATS(Yes,,):
fish,Capacity(1),,,COST(0.0,0.0,0.0),CATEGORY (Resources), AUTOSTATS(Yes,,):
list gir,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources),, AUTOSTATS(Yes,,):
baje 44,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
raees,Capacity(1),,,COST(0.0,0.0,0.0),CATEGORY (Resources),, AUTOSTATS(Yes,,):
kazem zadeh,Capacity(2),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
baje 54,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
baje bank,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources),, AUTOSTATS(Yes,,):
omor mostamari,Capacity(1),,,COST(0.0,0.0,0.0),CATEGORY (Resources), AUTOSTATS(Yes,,):
boss6,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
soheili,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
peyman,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources),, AUTOSTATS(Yes,,):
baje se ta yazda,Capacity(5),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
mr hey,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
kaghaz,Capacity(1000000),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
Resource 78910,Capacity(3),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
kaghaz 6,Capacity(100000),,,COST(0.0,0.0,0.0),CATEGORY (Resources), AUTOSTATS(Yes,,):
kaghaz 7,Capacity(10000000),,,COST(0.0,0.0,0.0), CATEGORY (Resources),, AUTOSTATS(Yes,,):
baje two2,Capacity(1),,,COST(0.0,0.0,0.0),CATEGORY (Resources), AUTOSTATS(Yes,,):
mr moaven,Capacity(1),,,COST(0.0,0.0,0.0),CATEGORY (Resources),, AUTOSTATS(Yes,,):
bazrasan,Capacity(1),,,COST(0.0,0.0,0.0), CATEGORY (Resources),, AUTOSTATS(Yes,,):
karkonan,Capacity(4),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
kagahz,Capacity(10000000),,,COST(0.0,0.0,0.0), CATEGORY (Resources), AUTOSTATS(Yes,,):
moaven,Capacity(1),,,COST(0.0,0.0,0.0),CATEGORY (Resources), AUTOSTATS(Yes,,);

STATIONS: form four,,,form four, AUTOSTATS(Yes,,):
boss station,,,boss station, AUTOSTATS(Yes,,):
enterance bulding,,,enterance bulding, AUTOSTATS(Yes,,):
baygani station,,,baygani station, AUTOSTATS(Yes,,):
enterance4,, enterance4 AUTOSTATS(Yes,,):
enterance?,,.enterance7, AUTOSTATS(Yes,,):
form seven,,,form seven, AUTOSTATS(Yes,,):
form six,,,form six, AUTOSTATS(Yes,,):
baje station,,,baje station, AUTOSTATS(Yes,,):
entrance 1,,,entrance 1, AUTOSTATS(Yes,,):
fish station,,,fish station, AUTOSTATS(Yes,,):
form two,,,form two, AUTOSTATS(Yes,,):
baje one,,,baje one, AUTOSTATS(Yes,,):
tavakoli,,,tavakoli, AUTOSTATS(Yes,,):
baje tow,,,baje tow, AUTOSTATS(Yes,,):
baje st,,,baje st AUTOSTATS(Yes,,):
baje five,,,baje five, AUTOSTATS(Yes,,):
bank station,,,bank station, AUTOSTATS(Yes,,):
most,,,most, AUTOSTATS(Yes,,):
baje four,,,baje four, AUTOSTATS(Yes,,):
exit 1,,exit 1L, AUTOSTATS(Yes,,):
exit 2,,,exit 2, AUTOSTATS(Yes,,):
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exit 3,,,exit 3,AUTOSTATS(Yes,,):

exit 5,,,exit 5,AUTOSTATS(Yes,,):

exit 6,,,exit 6, AUTOSTATS(Yes,,):

exit 7,,exit 7,AUTOSTATS(Yes,,):

enterance 2,,,enterance 2, AUTOSTATS(Yes,,):

exit 8,,,exit 8, AUTOSTATS(Yes,,):

enterance 3,,,enterance 3, AUTOSTATS(Yes,,):
enterance 5,,,enterance 5,AUTOSTATS(Yes,,):
enterance 6,,,enterance 6, AUTOSTATS(Yes,,):
enterance 8,,,enterance 8, AUTOSTATS(Yes,,):

baje eleven,,,baje eleven AUTOSTATS(Yes,,):

baje ha,,,baje ha, AUTOSTATS(Yes,,):

exit4,,,exitd, AUTOSTATS(Yes,,):

dabir,,,dabir, AUTOSTATS(Yes,,):

baje three,,,baje three, AUTOSTATS(Yes,,):

bazresi station,, bazresi station, AUTOSTATS(Yes,,):
heydar,,,heydar, AUTOSTATS(Yes,,):

form one,,,form one, AUTOSTATS(Yes,,):
moshaver,,,moshaver, AUTOSTATS(Yes,,):

wicket 2,,,wicket 2, AUTOSTATS(Yes,,):

soheili station,,,soheili station, AUTOSTATS(Yes,,):
raeees,,,raeees, AUTOSTATS(Yes,,):
peymankaran,, peymankaran, AUTOSTATS(Yes,,):
exit building,,,exit building, AUTOSTATS(Yes,,):
aghaye mvn,,,aghaye mvn,AUTOSTATS(Yes,,):
miss kazem zadeh,,,miss kazem zadeh, AUTOSTATS(Yes,,):
boss st,,,boss st, AUTOSTATS(Yes,,);

SEQUENCES: esterahat pezeshki direction,enterance4,,,,rt=40&form four,,,,rt=3&baje five,,,,zamankhedmatsix=1,rt=2&baje

five,,

,,1t=0,zamankhedmatsix=2&exit4,,,,rt=5&exit building,,,,rt=40:

sayerin,exit building,,,,rt=0:

nam nevisi,enterance 2,,,,rt=20&form two,,,,rt=2&baje st,,,,zamankhedmattwo=4,rt=2&exit 2,,,,rt=5&enterance4,,,,
rt=20&baje ha,,,,rt=5,zamankhedmatseven=3&exit4,,,,rt=5&enterance 2,,,,rt=20&baje st,,,,rt=5,zamankhedmattwo=5&
miss kazem zadeh,,,,rt=7&exit 2,,,,rt=2&exit building,,,,rt=20:

daftarche shahrestan direction,enterance 2,,,,rt=20&baje st,,,,zamankhedmattwo=5,rt=4&baje st,,,,rt=0,
zamankhedmattwo=2&exit 2,,,,rt=5&exit building,,,,rt=20:

tasfye hesab direction,enterance?,,,,rt=70&form seven,,,,rt=2&most,,,,zamankhedmatnine=>5,rt=2&most,,,,rt=0,
zamankhedmatnine=6&exit 7,,,,rt=5&enterance 6,,,,rt=10&bazresi station,,, rt=4&exit 6,,,,rt=4&enterance 5,,,,rt=
10&dabir,,,,rt=2,zamankhedmateight=1&exit 5,,,,rt=2&enterance?,,,,rt=20&most,,,,rt=3,zamankhedmatnine=6&exit 7,,,,
rt=5&exit building,,,,rt=70:

soalat bime shodegan,enterance4,,, rt=40&tavakoli,,, rt=5&exit4,,,, rt=5&exit building,,,,rt=40:

eteraz b bedehi direction,enterance?,,,, rt=70&form seven,,, rt=2&exit 7,,,,rt=2&enterance 5,,,,rt=20&dabir,,,,rt=
2,zamankhedmateight=1&exit 5,,,,rt=2&enterance?,,,,rt=20&heydar,,,, rt=4&most,,,,rt=3,zamankhedmatnine=2&most,,,,
rt=0,zamankhedmatnine=5&exit 7,,,,rt=5&exit building,,,,rt=70:

sodor daftarche direction,enterance 2,,,,rt=20&baje st,,,,rt=2,zamankhedmattwo=5&form two,,,,rt=3&wicket 2,,,,rt=
3&exit 2,,,,rt=5&exit building,,,,rt=20:

soalat karfarmayan,enterance?,,,,rt=70&raeees,,, rt=4&exit 7,,,,rt=4&exit building,,,,rt=70:

darkhast bazresi,enterance 6,,,,rt=60&form six,,,,rt=4&exit 6,,,,rt=4&enterance 5,,,,rt=10&dabir,,,,rt=2,
zamankhedmateight=1&dabir,,,,rt=0,zamankhedmateight=2&exit 5,,,,rt=2&enterance 6,,,,rt=10&bazresi station,,,,rt=4&
exit 6,,,,rt=4&exit building,,,,rt=60:

hokm giri direction,entrance 1,,,,rt=10&baje station,,,,zamankhedmatone=5,rt=2&baje station,,,,rt=0,
zamankhedmatone=3&exit 1,,,,rt=2&exit building,,,,rt=10:

taghsit bedehi,enterance?,,,,rt=70&form seven,,, rt=2&exit 7,,,,rt=2&enterance 5,,,,rt=20&dabir, ,,,rt=2,
zamankhedmateight=1&exit 5,,,,rt=2&enterance?,,,,t=20&most,,,,rt=4,zamankhedmatnine=5&most,,,,rt=0,
zamankhedmatnine=4&heydar,,,, rt=4&exit 7,,,,rt=4&exit building,,,,rt=70:

almosana direction,enterance 2,,,,rt=20&baje st,,,,rt=5,zamankhedmattwo=5&form two,,, rt=2&baje st,,,, rt=2,
zamankhedmattwo=3&exit 2,,,,rt=5&exit building,,,,rt=20:

porotez va orotez,enterance4,,,,rt=40&form four,,,,rt=4,zamankhedmatfive=1&baje four,,,,zamankhedmatfive=3,rt=0&
exit4,,, rt=5&enterance 3,,,,rt=10&baygani station,,, rt=2,zamankhedmatthree=1&exit 3,,,,rt=2&enterance4,,,,rt=10&
tavakoli,,, rt=5&exit4,,, rt=5&enterance 3,,,,rt=10&baygani station,,, rt=2,zamankhedmatthree=2&exit 3,,,,rt=2&

64



exit building,,,,rt=30:

darkhast bime ghalibafan,enterance4,,,,rt=40&form four,,,,rt=2&baje ha,,,,zamankhedmatseven=1,rt=3&exit4,,,,rt=3&
enterance 5,,,,rt=10&dabir,,,,zamankhedmateight=1,rt=2&exit 5,,,,rt=2&enterance 2,,,,rt=30&baje st,,,,
zamankhedmattwo=4,rt=5&exit 2,,,,rt=5&exit building,,,,rt=20:

remze net direction,enterance?,,,,rt=70&most,,,,zamankhedmatnine=1,rt=5&exit 7,,,,rt=5&exit building,,,,rt=70:
code kargah direction,enterance?,,,,rt=70&form seven,,,,rt=2&most,,,,zamankhedmatnine=3,rt=2&exit 7,,,,rt=3&
exit building,,,,rt=70:

tamdid etebar direction,entrance 1,,,,rt=10&baje station,,,,zamankhedmatone=5,rt=2&baje station,,,,rt=0,
zamankhedmatone=4&exit 1,,,,rt=2&exit building,,,,rt=10:

soalat namnevisi,enterance 2,,,,rt=20&miss kazem zadeh,,, rt=2&exit 2,,,,rt=2&exit building,,,,rt=20:

darkhast kharid sarbazi,enterance4,,, rt=40&form four,,,,rt=3&baje ha,,,,zamankhedmatseven=3,rt=2&baje ha,,,,rt=0,
zamankhedmatseven=4&exit4,,,,rt=5&enterance 5,,,,rt=10&dabir,,,,rt=2,zamankhedmateight=1&exit 5,,,,rt=2&
enterance 3,,,,rt=20&baygani station,,,,rt=2,zamankhedmatthree=1&exit 3,,,,rt=2&enterance 2,,,,rt=10&baje st,,,,
rt=2,zamankhedmattwo=1&miss kazem zadeh,,,,rt=7&exit 2,,,,rt=2&enterance4,,,,rt=20&wicket 2,,,,rt=5&tavakoli,,,,
rt=2&exit4,,,,rt=5&enterance 3,,,,rt=10&fish station,,,,rt=2&baygani station,,,,rt=2,zamankhedmatthree=3&

baygani station,,,,rt=0,zamankhedmatthree=2&exit 3,,,,rt=2&exit building,,,,rt=30:

fish tabaghe 4,enterance4,,,,rt=40&baje four,,,,rt=4,zamankhedmatfive=2&exit4,,,,rt=40&exit building,,,,rt=40:
daryafte list,enterance?7,,,,rt=70&baje one,,, rt=5&exit 7,,,,rt=5&exit building,,,,rt=70:

darkhast bime bikari,enterance4,,,,rt=40&form four,,,,rt=2&baje three,,,,zamankhedmatfour=1,rt=2&baje three,,,,rt=
0,zamankhedmatfour=2&exit4,,,,rt=5&enterance 5,,,,rt=10&dabir,,,,rt=2,zamankhedmateight=1&exit 5,,,,rt=2&
enterance 3,,,,rt=20&baygani station,,,,rt=2,zamankhedmatthree=1&exit 3,,,,rt=2&enterance 2,,,,rt=10&baje st,,,,
rt=4,zamankhedmattwo=1&miss kazem zadeh,,, rt=7&exit 2,,,,rt=2&enterance4,,,,rt=20&tavakoli,,, rt=5&exit4,,,,t=5&
enterance 5,,,,rt=10&dabir, ,,,rt=2,zamankhedmateight=1&exit 5,,,,rt=2&entrance 1,,,,rt=40&bank station,,,,rt=2&
exit 1,,,,rt=2&enterance 3,,,,rt=20&baygani station,,,,rt=2,zamankhedmatthree=2&exit 3,,,,rt=2&exit building,,,,
rt=30:

darkhaste vam direction,entrance 1,,,,rt=10&baje station,,,,rt=2,zamankhedmatone=5&form one,,,,rt=2&baje station,,
,,rt=2,zamankhedmatfour=2&exit 1,,,,rt=2&exit building,,,,rt=10:

moshavere direction,moshaver,,, rt=5&exit building,,,,rt=5:

jamavari sabeghe,enterance 2,,,,rt=20&baje st,,,,rt=4,zamankhedmattwo=5&form two, ,,,rt=2&exit 2,,,,rt=5&
enterance 3,,,,rt=10&baygani station,,,,rt=2,zamankhedmatthree=1&exit 3,,,,rt=2&enterance 2,,,,rt=10&baje st,,,,
rt=5,zamankhedmattwo=1&miss kazem zadeh,,,,rt=7&exit 2,,,,rt=2&enterance 5,,,,rt=30&dabir,,,,zamankhedmateight=2,
rt=2&dabir,,,,rt=0,zamankhedmateight=1&exit 5,,,,rt=2&enterance 3,,,,rt=20&baygani station,,,,rt=2,
zamankhedmatthree=2&exit 3,,,,rt=2&exit building,,,,rt=30:

darkhaste bazneshastegi direction,entrance 1,,,,rt=10&baje station,,,,rt=2,zamankhedmatone=5&form one,,,,rt=2&
exit 1,,,,rt=2&enterance 5,,,,rt=40&dabir,,,,rt=2,zamankhedmateight=1&exit 5,,,,rt=2&enterance 3,,,,rt=20&

baygani station,,,,rt=2,zamankhedmatthree=1&exit 3,,,,rt=2&entrance 1,,,,rt=20&baje station,,,,rt=2,
zamankhedmatone=1&exit 1,,,,rt=2&enterance 2,,,,rt=10&baje st,,,,rt=5,zamankhedmattwo=6&exit 2,,,,rt=3&
enterance 5,,,,rt=30&dabir, ,,,rt=2,zamankhedmateight=1&exit 5,,,,rt=2&entrance 1,,,,rt=40&soheili station,,,,rt=4&
exit 1,,,,rt=4&enterance4,,, rt=30&baje ha,,,,rt=5,zamankhedmatseven=3&tavakoli,,,,rt=2 &exit4,,,,rt=5&enterance 5,
. t=10&dabir,,,,rt=2,zamankhedmateight=1&exit 5,,,,rt=2&enterance 3,,,,rt=20&baygani station,,,,rt=2,
zamankhedmatthree=2&exit 3,,,,rt=2&exit building,,,,rt=30:

soalat mostamari,entrance 1,,,,rt=10&soheili station,,,,rt=4&exit 1,,,,rt=4&exit building,,,,rt=10;

COUNTERS: tedad khoroji,,,,DATABASE(,"Count","User Specified", "tedad khoroji");

TALLIES: Tally 1,,DATABASE(,,"User Specified","Tally 1"):
Tally 2,,DATABASE(,,"User Specified","Tally 2"):
Tally 3,,DATABASE(,,"User Specified","Tally 3"):
Tally 4,,DATABASE(,,"User Specified","Tally 4"):
Tally 5,,DATABASE(,,"User Specified","Tally 5"):
Tally 6,,DATABASE(,,"User Specified","Tally 6"):
Tally 7,,DATABASE(,,"User Specified","Tally 7"):
Tally 8,,DATABASE(,,"User Specified","Tally 8"):
Tally 9,,DATABASE(,,"User Specified","Tally 9"):
Tally 10,,DATABASE(,,"User Specified","Tally 10"):
Tally 11,,DATABASE(,,"User Specified","Tally 11"):
Tally 12,,DATABASE(,,"User Specified","Tally 12"):
Tally 13,,DATABASE(,,"User Specified","Tally 13"):
Tally 14,,DATABASE(,,"User Specified","Tally 14"):
Tally 15,,DATABASE(,,"User Specified","Tally 15"):
Tally 16,,DATABASE(,,"User Specified","Tally 16"):
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Tally 17,,DATABASE(,,"User Specified","Tally 17"):
Tally 18,,DATABASE(,,"User Specified","Tally 18"):
Tally 19,,DATABASE(,,"User Specified","Tally 19"):
Tally 20,,DATABASE(,,"User Specified","Tally 20"):
Tally 21,,DATABASE(,,"User Specified","Tally 21"):
Tally 22,,DATABASE(,,"User Specified","Tally 22"):
Tally 23,,DATABASE(,,"User Specified","Tally 23"):
Tally 24,,DATABASE(,,"User Specified","Tally 24"):
Tally 25, DATABASE(,,"User Specified","Tally 25"):
Tally 26,,DATABASE(,,"User Specified","Tally 26"):
Tally 27,,DATABASE(,,"User Specified","Tally 27"):
Tally 28,,DATABASE(,,"User Specified","Tally 28");

DSTATS: EntitiesWIP(Entity 1) + EntitiesWIP(Entity 10) + EntitiesWIP(Entity 11), Total WIP," , DATABASE(,"Time
Persistent",
"User Specified","Total WIP");

REPLICATE, 1, DaysToBaseTime(288),Yes,Yes,,,,6.5,Minutes,No,No,,, Yes,No;

EXPRESSIONS: baje(5),DATATYPE(Native),EXPO(2.23),2 + 10 * BETA(1.21, 0.925),0.4 + ERLA(0.0774, 6),
0.19 + 3.61 * BETA(2.33, 2.27),1.26 * BETA(0.69, 0.885):
tabaghehaft(6), DATATYPE(Native),2.66 + 2.01 * BETA(0.899, 1.06),1.81 + 0.43 * BETA(L.06, 0.788),
1.28 + 0.54 * BETA(0.625, 0.634),LOGN(7.61, 17.9),LOGN(0.508, 0.803),2.65 + 1.35 * BETA(0.865, 0.806):
bajefive(2), DATATYPE(Native),LOGN(3.07, 1.79),WEIB(0.933, 0.835):
bajefour(3), DATATYPE(Native),2 + WEIB(3.11, 1.3),0.37 + LOGN(1.67, 1.45), WEIB(0.933, 0.835):
baigani(3),DATATYPE(Native), TRIA(-0.001, 0.0277, 0.04),0.09 + LOGN(0.988, 0.724),LOGN(0.253, 0.302):
hesabenferadi(6),DATATYPE(Native),0.59 + ERLA(0.232, 3),3 + 1.66 * BETA(0.539, 0.712),1.57 + EXPO(0.787),
1+ 8 *BETA(0.554, 1.56),0.53 + 0.57 * BETA(0.0985, 0.0634),UNIF( 0.5, 5):
allbaje(4), DATATYPE(Native),2 + 5 * BETA(0.578, 0.737),0.37 + LOGN(1.67, 1.45),WEIB(0.933, 0.835),
0.41 + ERLA(0.429, 2):
bajethree(2),DATATYPE(Native),UNIF(5.8, 7.7),WEIB(0.933, 0.835):
tabaghepanj(2),DATATYPE(Native),0.07 + LOGN(0.536, 0.266),0.03 + EXPO(0.095);

ENTITIES: Entity 1,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 2,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 3,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 4,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 5,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 6,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 7,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 8,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 9,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
moraje,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 10,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 11,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 12,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 13,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 14,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 15,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0, AUTOSTATS(Yes,,):
Entity 16,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 17,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 18,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 19,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 20,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 21,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 22,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 23,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 24,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 25,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 26,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
Entity 27,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0,AUTOSTATS(Yes,,):
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Entity 28,Picture.Report,0.0,0.0,0.0,0.0,0.0,0.0, AUTOSTATS(Yes,,);

SETS: time in system,Tally 1, Tally 2, Tally 3, Tally 4,Tally 5, Tally 6, Tally 7, Tally 8, Tally 9,Tally 10, Tally 11,Tally 12,
Tally 13,Tally 14,Tally 15, Tally 16, Tally 17, Tally 18,Tally 19, Tally 20, Tally 21,Tally 22, Tally 23, Tally 24,
Tally 25,Tally 26,Tally 27, Tally 28:
Part sequense,jamavari sabeghe,nam nevisi,darkhast bime bikari,porotez va orotez,darkhast bazresi,daryafte list,
remze net direction,eteraz b bedehi direction,code kargah direction,tasfye hesab direction,taghsit bedehi,
soalat mostamari,soalat namnevisi,soalat bime shodegan,soalat karfarmayan,moshavere direction,
darkhaste vam direction,hokm giri direction,tamdid etebar direction,darkhaste bazneshastegi direction,
sodor daftarche direction,daftarche shahrestan direction,almosana direction,darkhast bime ghalibafan,
fish tabaghe 4,darkhast kharid sarbazi,esterahat pezeshki direction,sayerin:
arbab rojo,Entity 1,Entity 2,Entity 3,Entity 4,Entity 5,Entity 6,Entity 7,Entity 8,Entity 9,Entity 10,Entity 11,
Entity 12,Entity 13,Entity 14,Entity 15,Entity 16,Entity 17,Entity 18,Entity 19,Entity 20,Entity 21,Entity 22,
Entity 23,Entity 24,Entity 25,Entity 26,Entity 27,Entity 28:
part pic,Picture.Woman,Picture.Man,Picture.Man,Picture.Man,Picture.Man,Picture.Man,Picture.Man,Picture.Man,
Picture.Man,Picture.Man,Picture.Man,Picture. Woman,Picture.Woman,Picture. Woman,Picture.Woman,Picture.\WWoman,

Picture.Woman,Picture.Woman,Picture.Woman,Picture.\Woman,Picture. Woman,Picture.Woman,Picture.Man,Picture.Man,
Picture.Man,Picture.Man,Picture.Man,Picture. Woman;

ACTIVITYAREAS: form four,0,,AUTOSTATS(Yes,,):
boss station,0,,AUTOSTATS(Yes,,):
enterance bulding,0,,AUTOSTATS(Yes,,):
baygani station,0, AUTOSTATS(Yes,,):
enterance4,0,,AUTOSTATS(Yes,,):
enterance7,0,,AUTOSTATS(Yes,,):
form seven,0,, AUTOSTATS(Yes,,):
form six,0,,AUTOSTATS(Yes,,):
baje station,0,,AUTOSTATS(Yes,,):
entrance 1,0, AUTOSTATS(Yes,,):
fish station,0,, AUTOSTATS(Yes,,):
form two,0,, AUTOSTATS(Yes,,):
baje one,0,,AUTOSTATS(Yes,,):
tavakoli,0,,AUTOSTATS(Yes,,):
baje tow,0, AUTOSTATS(Yes,,):
baje st,0,,AUTOSTATS(Yes,,):
baje five,0,,AUTOSTATS(Yes,,):
bank station,0,,AUTOSTATS(Yes,,):
most,0,,AUTOSTATS(Yes,,):
baje four,0,, AUTOSTATS(Yes,,):
exit 1,0,,AUTOSTATS(Yes,,):
exit 2,0,,AUTOSTATS(Yes,,):
exit 3,0,,AUTOSTATS(Yes,,):
exit 5,0,,AUTOSTATS(Yes,,):
exit 6,0,,AUTOSTATS(Yes,,):
exit 7,0,,AUTOSTATS(Yes,,):
enterance 2,0,,AUTOSTATS(Yes,,):
exit 8,0,,AUTOSTATS(Yes,,):
enterance 3,0,,AUTOSTATS(Yes,,):
enterance 5,0,,AUTOSTATS(Yes,,):
enterance 6,0,,AUTOSTATS(Yes,,):
enterance 8,0,,AUTOSTATS(Yes,,):
baje eleven,0, AUTOSTATS(Yes,,):
baje ha,0,,AUTOSTATS(Yes,,):
exit4,0, AUTOSTATS(Yes,,):
dabir,0,, AUTOSTATS(Yes,,):
baje three,0,,AUTOSTATS(Yes,,):
bazresi station,0,,AUTOSTATS(Yes,,):
heydar,0, AUTOSTATS(Yes,,):
form one,0,,AUTOSTATS(Yes,,):
moshaver,0,, AUTOSTATS(Yes,,):
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wicket 2,0,,AUTOSTATS(Yes,,):

soheili station,0, AUTOSTATS(Yes,,):
raeees,0,,AUTOSTATS(Yes,,):
peymankaran,0, AUTOSTATS(Yes,,):

exit building,0,, AUTOSTATS(Yes,,):
aghaye mvn,0,,AUTOSTATS(Yes,,):

miss kazem zadeh,0,, AUTOSTATS(Yes,,):
boss st,0,,AUTOSTATS(Yes,,);

Do Ly pYd Oouwd

)
)

; Model statements for module: BasicProcess.Create 1 (enterance of building)

132% CREATE, 1,MinutesToBaseTime(0),moraje:MinutesToBase Time(EXPO(0.26)):NEXT(133$);

133% ASSIGN: enterance of building.NumberOut=enterance of building.NumberOut + 1:NEXT(123$);

1
1

;. Model statements for module: BasicProcess.Assign 110 (Assign 110)
123% ASSIGN: Part index=

DISC(0.075,1,0.165,2,0.195,3,0.201,4,0.2074,5,0.2574,6,0.2774,7,0.2924,8,0.3124,9,0.3324,10,0.3474,11,0.3674,12,0.4124,13,0.
4684,14,0.5984,15,0.6284,16,0.6404,17,0.6604,18,0.6804,19,0.6954,20,0.7554,21,0.8054,22,0.8524,23,0.8604,24,0.8754,25,0.92
64,26,0.9464,27,1.00,28):

Entity.Sequence=Part sequense( Part index ):

Entity. Type=arbab rojo (Part index ):

Entity.Picture=part pic( Part index ):

at=TNOW:NEXT(1%);

;. Model statements for module: AdvancedTransfer.Station 42 (enterance building)

1

1$ STATION, enterance bulding;
138% DELAY: 0.0,,VAINEXT(112%$);

)
1

;. Model statements for module: AdvancedTransfer.Route 138 (Route 138)

112% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 41 (moshaver)
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0% STATION, moshaver;
141% DELAY: 0.0,,VA:NEXT(23);

; Model statements for module: BasicProcess.Process 30 (moshavere)
2% ASSIGN: moshavere.NumberIn=moshavere.Numberin + 1:
moshavere.WIP=moshavere.WIP+1;

145% QUEUE, moshavere.Queue;
144% SEIZE, 2,VA:
moshaveran,1:NEXT(1433);

143% DELAY: Uniform(.5,10),,VA;

142% RELEASE: moshaveran,1;

190% ASSIGN: moshavere.NumberOut=moshavere.NumberOut + 1:
moshavere.WIP=moshavere.WIP-1:NEXT(80$);

1
1

; Model statements for module: AdvancedTransfer.Route 111 (Route 111)

é0$ ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 46 (enterance 1)

3% STATION, entrance 1;
195% DELAY: 0.0,,VA:NEXT(104$%);

1
1

;. Model statements for module: AdvancedTransfer.Route 135 (Route 135)

104% ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 47 (bank station)

1

4% STATION,  bank station;
198% DELAY: 0.0,,VA:NEXT(99%);

1
1

;. Model statements for module: BasicProcess.Process 67 (bank)
993% ASSIGN: bank.Numberin=bank.Numberin + 1:

bank.WIP=bank.WIP+1;
202% QUEUE, bank.Queue;
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201% SEIZE, 2,VA:

baje bank,1:NEXT(200$);

200% DELAY: Uniform(.5,4),,\VA,
199% RELEASE: baje bank,1;
247% ASSIGN: bank.NumberOut=bank.NumberQut + 1:

1

)

)

5%

bank.WIP=bank.WIP-1:NEXT(8%);

Model statements for module: AdvancedTransfer.Route 63 (Route 63)

ROUTE: SecondsToBaseTime(rt),SEQ;

Model statements for module: AdvancedTransfer.Station 48 (soheili station)

STATION, soheili station;

252% DELAY: 0.0,,VA:NEXT(98$);

)
)

)

983

Model statements for module: BasicProcess.Process 66 (mr soheil)

ASSIGN: mr soheil.Numberln=mr soheil.Numberin + 1:
mr soheil WIP=mr soheil WIP+1;

256% QUEUE, mr soheil.Queue;
255% SEIZE, 2,VA:

soheili,1:NEXT(254$%);

254% DELAY: LOGN(1.02, 1.27), VA,
253% RELEASE: soheili,1;
301% ASSIGN: mr soheil.NumberOut=mr soheil. NumberOut + 1:

9%

mr soheil. WIP=mr soheil WIP-1:NEXT(7$);

Model statements for module: AdvancedTransfer.Route 62 (Route 62)

ROUTE: SecondsToBaseTime(rt),SEQ;

Model statements for module: AdvancedTransfer.Station 50 (exit 1)

STATION, exit 1;

306% DELAY: 0.0, VA:NEXT(84$);

Model statements for module: AdvancedTransfer.Route 113 (Route 113)
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84% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 51 (enterance 2)

1

10% STATION, enterance 2;
309% DELAY: 0.0,,VA:NEXT(91%);

1
1

;. Model statements for module: AdvancedTransfer.Route 122 (Route 122)

91% ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 53 (wicket 2)

1

11$ STATION,  wicket 2;
312% DELAY: 0.0,,VAINEXT(101$);

1
1

;. Model statements for module: BasicProcess.Process 69 (baje tow2)

101$ ASSIGN: baje tow2.Numberln=baje tow2.Numberin + 1:
baje tow2.WIP=baje tow2.WIP+1;

316% QUEUE, baje tow2.Queue;

315% SEIZE, 2VA:
baje two2,1:NEXT(3149%);

314% DELAY: Uniform(0.25,2), VA,

313% RELEASE:  baje two2,1;

361% ASSIGN: baje tow2.NumberOut=baje tow2.NumberOut + 1:
baje tow2.WIP=baje tow2.WIP-1:NEXT(13$);

)
1

;. Model statements for module: AdvancedTransfer.Route 70 (Route 70)

13% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 54 (miss kazem zadeh)

1

12% STATION, miss kazem zadeh;
366% DELAY: 0.0,,VA:NEXT(102%$);
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;. Model statements for module: BasicProcess.Process 70 (masol kol hesabhaye enferadi)

102% ASSIGN: masol kol hesabhaye enferadi.NumberIn=masol kol hesabhaye enferadi.NumberIn + 1:
masol kol hesabhaye enferadi.WIP=masol kol hesabhaye enferadi.WIP+1;

370% QUEUE, masol kol hesabhaye enferadi.Queue;

369% SEIZE, 2,VA:
kazem zadeh,1:NEXT(368$);

368% DELAY: Uniform(0.25,2),, VA,

367$ RELEASE:  kazem zadeh,1;

415% ASSIGN: masol kol hesabhaye enferadi.NumberOut=masol kol hesabhaye enferadi.NumberOut + 1:
masol kol hesabhaye enferadi.WIP=masol kol hesabhaye enferadi.WIP-1:NEXT(14$);

1
)

; Model statements for module: AdvancedTransfer.Route 71 (Route 71)

14$ ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 55 (exit 2)

)

16$ STATION, exit 2;
420% DELAY: 0.0,,VA:NEXT(83$);

1
)

; Model statements for module: AdvancedTransfer.Route 112 (Route 112)

83% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 56 (enterance 3)

20$ STATION, enterance 3;
423% DELAY: 0.0,,VAINEXT(92%);

1
1

; Model statements for module: AdvancedTransfer.Route 123 (Route 123)

92% ROUTE: SecondsToBaseTime(rt),SEQ;

1
1

;. Model statements for module: AdvancedTransfer.Station 57 (fish station)

21% STATION, fish station;
426% DELAY: 0.0,,VAINEXT(17%);
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; Model statements for module: BasicProcess.Process 38 (sabt fish)

17% ASSIGN: sabt fish.NumberIn=sabt fish.Numberin + 1:
sabt fish.WIP=sabt fish.WIP+1;

430% QUEUE, sabt fish.Queue;

429% SEIZE, 2,VA:
fish,1:NEXT(4289%);

428% DELAY: 0.03 + LOGN(0.571, 0.408),,VA;

427% RELEASE: fish,1;

475% ASSIGN: sabt fish.NumberOut=sabt fish.NumberOut + 1:
sabt fish.WIP=sabt fish. WIP-1:NEXT(24$);

)
)

; Model statements for module: AdvancedTransfer.Route 76 (Route 76)

24% ROUTE: SecondsToBaseTime(rt),SEQ;

)
)

; Model statements for module: AdvancedTransfer.Station 58 (boss station)

1

22% STATION, boss station;
480% DELAY: 0.0,,VAINEXT(18%);

; Model statements for module: BasicProcess.Process 39 (boss)

18% ASSIGN: boss.Numberln=boss.Numberin + 1:
boss.WIP=boss.WIP+1;

484% QUEUE, boss.Queue;

483% SEIZE, 2,VA:
raees,1:NEXT(482%);

482% DELAY: Uniform(0.25,5),,VA,;
481% RELEASE: raees,1;

529% ASSIGN: boss.NumberOut=boss.NumberOut + 1:
boss.WIP=boss.WIP-1:NEXT(25$);

; Model statements for module: AdvancedTransfer.Route 77 (Route 77)

25% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 59 (baygani station)
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23% STATION,  baygani station;
534% DELAY: 0.0, VAINEXT(19%$);

1
1

; Model statements for module: BasicProcess.Process 40 (baygani)

19% ASSIGN: baygani.NumberIn=baygani.Numberin + 1:
baygani.WIP=baygani.WIP+1;

538% QUEUE, baygani.Queue;

537% SEIZE, 2,VA:
baygan,1:NEXT(536%);

536% DELAY: baigani ( zamankhedmatthree ),,VA;

535% RELEASE: baygan,1;

583% ASSIGN: baygani.NumberOut=baygani.NumberOut + 1:
baygani.WIP=baygani.WIP-1:NEXT(26$);

1
1

;. Model statements for module: AdvancedTransfer.Route 78 (Route 78)

‘26$ ROUTE: SecondsToBaseTime(rt),SEQ;

1
1

;. Model statements for module: AdvancedTransfer.Station 60 (exit 3)

1

27% STATION, exit 3;
588% DELAY: 0.0,,VAINEXT(85%);

1
1

;. Model statements for module: AdvancedTransfer.Route 114 (Route 114)

85% ROUTE: SecondsToBaseTime(rt),SEQ;

)
1

;. Model statements for module: AdvancedTransfer.Station 61 (enterance4)

1

36% STATION, enterance4;
591% DELAY: 0.0,,VA:NEXT(93%$);

1
1

;. Model statements for module: AdvancedTransfer.Route 124 (Route 124)

93% ROUTE: SecondsToBaseTime(rt),SEQ;
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; Model statements for module: AdvancedTransfer.Station 62 (exit4)

37% STATION, exit4;
594% DELAY: 0.0,,VAINEXT(86%$);

;. Model statements for module: AdvancedTransfer.Route 115 (Route 115)

86% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 63 (tavakoli)

)

38% STATION, tavakoli;
597% DELAY: 0.0,,VAINEXT(28%);

)
)

; Model statements for module: BasicProcess.Process 41 (mr tavakoli)

28% ASSIGN: mr tavakoli.NumberIn=mr tavakoli.Numberin + 1:
mr tavakoli. WIP=mr tavakoli. WIP+1;

601$ QUEUE, mr tavakoli.Queue;

6003 SEIZE, 2,VA:
moaven,1:NEXT(599%);

599% DELAY: LOGN(1.02, 1.27), VA,

598% RELEASE: moaven,1;

646% ASSIGN: mr tavakoli.NumberOut=mr tavakoli.NumberOut + 1:
mr tavakoli.WIP=mr tavakoli.WIP-1:NEXT(46$);

1
)

; Model statements for module: AdvancedTransfer.Route 87 (Route 87)

46% ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 64 (baje two)

39% STATION, baje tow;
651% DELAY: 0.0,,VA:NEXT(29%);

1
)

; Model statements for module: BasicProcess.Process 42 (baje24)

29% ASSIGN: baje24.Numberin=baje24.Numberin + 1:
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baje24.WIP=baje24.WIP+1;
655% QUEUE, baje24.Queue;
654% SEIZE, 2,VA:

baje 24,1:NEXT(6539%);

653% DELAY: Uniform(0.25,10),,VA;

652% RELEASE:  baje 24,1;

700% ASSIGN: baje24.NumberOut=baje24.NumberOut + 1:
baje24.WIP=Dbaje24.WIP-1:NEXT(47$);

1
1

; Model statements for module: AdvancedTransfer.Route 88 (Route 88)

47% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 65 (baje three)

1

40% STATION, baje three;
705$ DELAY: 0.0, VA:NEXT(30$);

)
1

;. Model statements for module: BasicProcess.Process 43 (baje se)

30$ ASSIGN: baje se.NumberIn=Dbaje se.Numberin + 1:
baje se.WIP=baje se. WIP+1,;

709% QUEUE, baje se.Queue;

708% SEIZE, 2VA:
baje 34,1:NEXT(707$);

707% DELAY: bajethree ( zamankhedmatfour ),,VA;

706% RELEASE: baje 34,1;

754% ASSIGN: baje se.NumberOut=baje se.NumberOut + 1:
baje se.WIP=baje se. WIP-1:NEXT(48$);

; Model statements for module: AdvancedTransfer.Route 89 (Route 89)

48% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 66 (baje four)

1

41% STATION, baje four;
759% DELAY: 0.0,,VA:NEXT(31%);
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;. Model statements for module: BasicProcess.Process 44 (baje char)

31% ASSIGN: baje char.NumberIn=baje char.NumberIn + 1:
baje char.WIP=baje char.WIP+1,;

763% QUEUE, baje char.Queue;

762% SEIZE, 2,VA:
baje 44,1:NEXT(761%);

761% DELAY: bajefour ( zamankhedmatfive ), VA,

760% RELEASE: baje 44,1;

808% ASSIGN: baje char.NumberOut=baje char.NumberOut + 1:
baje char.WIP=baje char. WIP-1:NEXT(493%);

1
1

; Model statements for module: AdvancedTransfer.Route 90 (Route 90)

49% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 67 (baje five)

)

423% STATION, baje five;
813% DELAY: 0.0, VA:NEXT(32%);

1
1

; Model statements for module: BasicProcess.Process 45 (baje panj)

32% ASSIGN: baje panj.NumberIn=baje panj.Numberin + 1:
baje panj.WIP=baje panj.WIP+1,;

817$ QUEUE, baje panj.Queue;

816% SEIZE, 2VA:
baje 54,1:NEXT(815%);

815% DELAY: bajefive ( zamankhedmatsix ),, VA,
814% RELEASE: baje 54,1;

862$ ASSIGN: baje panj.NumberOut=baje panj.NumberOut + 1:
baje panj.WIP=baje panj.WIP-1:NEXT(50%);

; Model statements for module: AdvancedTransfer.Route 91 (Route 91)

50% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 68 (baje ha)

1

43% STATION, baje ha;
867% DELAY: 0.0,,VA:NEXT(33$);
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;. Model statements for module: BasicProcess.Process 46 (baje 78910)

33% ASSIGN: baje 78910.Numberin=baje 78910.Numberin + 1:
baje 78910.WIP=baje 78910.WIP+1;

871% QUEUE, baje 78910.Queue;

870$ SEIZE, 2,VA:
Resource 78910,1:NEXT(869%);

869% DELAY: allbaje ( zamankhedmatseven ), VA,

868% RELEASE: Resource 78910,1;

916% ASSIGN: baje 78910.NumberOut=baje 78910.NumberOut + 1:
baje 78910.WIP=baje 78910.WIP-1:NEXT(51%);

; Model statements for module: AdvancedTransfer.Route 92 (Route 92)

51% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 69 (baje eleven)

)

44% STATION, baje eleven;
921% DELAY: 0.0,,VAINEXT(34%);

; Model statements for module: BasicProcess.Process 47 (baje yazdah)

34% ASSIGN: baje yazdah.Numberin=baje yazdah.Numberin + 1:
baje yazdah.WIP=baje yazdah.WIP+1,;

9253% QUEUE, baje yazdah.Queue;

9243% SEIZE, 2,VA:
baje 11,1:NEXT(923%);

923% DELAY: Uniform(0.25,10),,VA;
922% RELEASE: baje 11,1;

970% ASSIGN: baje yazdah.NumberOut=baje yazdah.NumberOut + 1:
baje yazdah.WIP=baje yazdah.WIP-1:NEXT(52%);

; Model statements for module: AdvancedTransfer.Route 93 (Route 93)

52% ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 70 (aghaye mvn)
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45% STATION,  aghaye mvn;
975% DELAY: 0.0,,VA:NEXT(35%);

1
1

; Model statements for module: BasicProcess.Process 48 (moaven edari mali)

35% ASSIGN: moaven edari mali.Numberln=moaven edari mali.Numberin + 1:
moaven edari mali.WIP=moaven edari mali. WIP+1;

9793% QUEUE, moaven edari mali.Queue;

978% SEIZE, 2,VA:
mr moaven,1:NEXT(977%);

977% DELAY: LOGN(1.02, 1.27),, VA,

976% RELEASE: mr moaven,1;

1024% ASSIGN: moaven edari mali.NumberOut=moaven edari mali.NumberOut + 1:
moaven edari mali.WIP=moaven edari mali. WIP-1:NEXT(53%);

; Model statements for module: AdvancedTransfer.Route 94 (Route 94)

53% ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 71 (enterance 5)

1

54% STATION, enterance 5;
1029% DELAY: 0.0,,VAINEXT(94%);

;. Model statements for module: AdvancedTransfer.Route 125 (Route 125)

94% ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 72 (exit 5)

1

55% STATION, exit 5;
1032% DELAY: 0.0, VA:NEXT(87%);

)
1

;. Model statements for module: AdvancedTransfer.Route 116 (Route 116)

87% ROUTE: SecondsToBaseTime(rt),SEQ;
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;. Model statements for module: AdvancedTransfer.Station 75 (enterance 6)

57% STATION, enterance 6;
1035% DELAY: 0.0,,VA:NEXT(95%);

;. Model statements for module: AdvancedTransfer.Route 126 (Route 126)

§5$ ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 76 (bazresi station)

)

58% STATION, bazresi station;
1038% DELAY: 0.0,,VA:NEXT(60%);

1
)

; Model statements for module: BasicProcess.Process 55 (bazresi)

60% ASSIGN: bazresi.Numberln=bazresi.Numberin + 1:
bazresi. WIP=bazresi. WIP+1;

10423% QUEUE, bazresi.Queue;

1041% SEIZE, 2,VA:
bazrasan,1:NEXT(1040%);

1040% DELAY: LOGN(2.91, 3.51),,VA;

1039% RELEASE: bazrasan,1;

1087% ASSIGN: bazresi.NumberOut=bazresi.NumberOut + 1:
bazresi.WIP=bazresi.WIP-1:NEXT(63%);

1
1

; Model statements for module: AdvancedTransfer.Route 99 (Route 99)

63$ ROUTE: SecondsToBaseTime(rt),SEQ);

; Model statements for module: AdvancedTransfer.Station 77 (boss st)

59% STATION, boss st;
1092% DELAY: 0.0,,VAINEXT(613);

1
1

; Model statements for module: BasicProcess.Process 56 (boss room)

61$ ASSIGN: boss room.Numberln=boss room.Numberin + 1:
boss room.WIP=boss room.WIP+1;
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1096% QUEUE, boss room.Queue;
1095% SEIZE, 2,VA:
boss6,1:NEXT(1094$);

1094% DELAY: EXPO(0.614), VA,

1093% RELEASE: boss6,1;

1141% ASSIGN: boss room.NumberOut=boss room.NumberOut + 1:
boss room.WIP=boss room.WIP-1:NEXT(64$%);

;. Model statements for module: AdvancedTransfer.Route 100 (Route 100)

64$ ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 78 (exit 6)

1

62$ STATION, exit 6;
1146$ DELAY: 0.0,,VA:NEXT(88$);

)
)

;. Model statements for module: AdvancedTransfer.Route 117 (Route 117)

88% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 79 (enterance7)

69% STATION, enterance’;
1149% DELAY: 0.0,,VA:NEXT(96%);

; Model statements for module: AdvancedTransfer.Route 127 (Route 127)

96$ ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 80 (most)

70% STATION, most;
1152% DELAY: 0.0,,VA:NEXT(659%);

; Model statements for module: BasicProcess.Process 57 (baje s)

81



65% ASSIGN: baje s.NumberIn=baje s.Numberin + 1:
baje s.WIP=baje s. WIP+1,

1156% QUEUE, baje s.Queue;

1155% SEIZE, 2,VA:
karkonan,1:NEXT(1154$);

1154% DELAY: tabaghehaft ( zamankhedmatnine ),,VA;

1153% RELEASE: karkonan,1;

1201% ASSIGN: baje s.NumberOut=baje s.NumberOut + 1:
baje s.WIP=baje s.WIP-1:NEXT(75%$);

1
1

; Model statements for module: AdvancedTransfer.Route 101 (Route 101)

75% ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 81 (baje one)

1

71% STATION, baje one;
1206$ DELAY: 0.0,,VAINEXT(66%);

1
1

;. Model statements for module: BasicProcess.Process 58 (baje 1)

66% ASSIGN: baje 1.NumberIn=baje 1.Numberin + 1:
baje 1.WIP=baje 1. WIP+1,

1210% QUEUE, baje 1.Queue;

1209% SEIZE, 2VA:
list gir,1:NEXT(1208$);

1208% DELAY: 2.31 +2.39 * BETA(0.968, 1.1),,VA,

1207% RELEASE: list gir,1;

1255% ASSIGN: baje 1.NumberOut=baje 1.NumberOut + 1:
baje 1.WIP=baje 1.WIP-1:NEXT(76$);

1
1

;. Model statements for module: AdvancedTransfer.Route 106 (Route 106)

76$ ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 82 (raeees)

1

72% STATION, raeees;
1260% DELAY: 0.0,,VAINEXT(67%);
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; Model statements for module: BasicProcess.Process 59 (officer)

67% ASSIGN: officer.NumberlIn=officer.Numberin + 1:
officer.WIP=officer. WIP+1;

1264% QUEUE, officer.Queue;

1263% SEIZE, 2,VA:
main person,1:NEXT(1262%);

1262% DELAY: LOGN(1.02, 1.27),,VA;

12613% RELEASE:  main person,1;

1309% ASSIGN: officer.NumberOut=officer.NumberQut + 1:
officer. WIP=officer. WIP-1:NEXT(77$);

)
)

; Model statements for module: AdvancedTransfer.Route 107 (Route 107)

77% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 83 (heydar)

)

73% STATION, heydar;
1314% DELAY: 0.0,,VA:NEXT(68$);

; Model statements for module: BasicProcess.Process 60 (mr heydari)

68% ASSIGN: mr heydari.Numberln=mr heydari.Numberin + 1:
mr heydari. WIP=mr heydari.WIP+1;

1318% QUEUE, mr heydari.Queue;

1317% SEIZE, 2,VA:
mr hey,1:NEXT(1316$);

1316$ DELAY: 8 * BETA(0.709, 1.48),,VA,

1315% RELEASE: mr hey,1;

1363% ASSIGN: mr heydari.NumberOut=mr heydari.NumberOut + 1:
mr heydari. WIP=mr heydari. WIP-1:NEXT(783);

1
)

; Model statements for module: AdvancedTransfer.Route 108 (Route 108)

78% ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 84 (exit 7)

74% STATION, exit 7;

83



1368% DELAY: 0.0, VA:NEXT(89%);

1
1

;. Model statements for module: AdvancedTransfer.Route 118 (Route 118)

89% ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 86 (dabir)

1

79% STATION,  dabir;
1371% DELAY: 0.0, VA:NEXT(103$);

)
1

; Model statements for module: BasicProcess.Process 71 (dabir khane)

103% ASSIGN: dabir khane.NumberIn=dabir khane.Numberln + 1:
dabir khane.WIP=dabir khane.WIP+1;

1375% QUEUE, dabir khane.Queue;

1374% SEIZE, 2,VA:
dabiran,1:NEXT(1373%);

1373% DELAY: tabaghepanj ( zamankhedmateight ),,VA;

1372% RELEASE: dabiran,1;

1420% ASSIGN: dabir khane.NumberOut=dabir khane.NumberOut + 1:
dabir khane.WIP=dabir khane.WIP-1:NEXT(56$);

; Model statements for module: AdvancedTransfer.Route 96 (Route 96)

56$ ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 88 (exit building)

1

81% STATION, exit building;
1425% DELAY: 0.0,,VAINEXT(124%);

;. Model statements for module: BasicProcess.Record 1 (tedad khoroji)

1243 COUNT: tedad khoroji, :NEXT(1258);

; Model statements for module: BasicProcess.Record 2 (zaman beyn khoroji)
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i25$ TALLY: time in system(Part index),INT(at),1:NEXT(82%);

1
1

;. Model statements for module: BasicProcess.Dispose 19 (final exit)

éZ$ ASSIGN: final exit.NumberOut=final exit.NumberOut + 1;
1426% DISPOSE: Yes;

; Model statements for module: AdvancedTransfer.Station 99 (baje station)

1

105% STATION, baje station;
1429% DELAY: 0.0,,VAINEXT(97%);

1
1

;. Model statements for module: BasicProcess.Process 65 (mostamari)

97% ASSIGN: mostamari.NumberIn=mostamari.Numberin + 1:
mostamari.WIP=mostamari.WIP+1;

1433% QUEUE, mostamari.Queue;

1432% SEIZE, 2,VA:
omor mostamari,1:NEXT(1431$);

1431% DELAY: baje ( zamankhedmatone ),,\VA,

1430% RELEASE: omor mostamari,1;

1478% ASSIGN: mostamari.NumberOut=mostamari.NumberOut + 1:
mostamari.WIP=mostamari.WIP-1:NEXT(6$);

; Model statements for module: AdvancedTransfer.Route 61 (Route 61)

63 ROUTE: SecondsToBaseTime(rt),SEQ;

)
1

;. Model statements for module: AdvancedTransfer.Station 100 (baje st)

1

106$ STATION, baje st;
1483% DELAY: 0.0,,VA:NEXT(100%);

1
1

;. Model statements for module: BasicProcess.Process 68 (karshenas hesab enferadi)

100$ ASSIGN: karshenas hesab enferadi.Numberln=karshenas hesab enferadi.Numberin + 1:
karshenas hesab enferadi.WIP=karshenas hesab enferadi.WIP+1;

1487% QUEUE, karshenas hesab enferadi.Queue;

1486% SEIZE, 2,VA:
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1485%
1484%
1532%

baje se ta yazda,1:NEXT(14853%);

DELAY: hesabenferadi ( zamankhedmattwo ),, VA,
RELEASE: baje se ta yazda,1;
ASSIGN: karshenas hesab enferadi.NumberOut=karshenas hesab enferadi.NumberOut + 1:

karshenas hesab enferadi.WIP=karshenas hesab enferadi.WIP-1:NEXT(15$);

; Model statements for module: AdvancedTransfer.Route 72 (Route 72)

158

1

)

ROUTE: SecondsToBaseTime(rt),SEQ);

; Model statements for module: AdvancedTransfer.Station 101 (form one)

)

107$
1537%

)

)

STATION, form one;
DELAY: 0.0,,VAINEXT(114%);

; Model statements for module: BasicProcess.Process 73 (takmil form one)

114%

1541%
1540%

1539%
1538%
1586%

1

ASSIGN: takmil form one.NumberIn=takmil form one.Numberin + 1:

takmil form one.WIP=takmil form one.WIP+1;

QUEUE, takmil form one.Queue;
SEIZE, 2, VA:

kaghaz,1:NEXT(1539%);

DELAY: Uniform(1,5),,VA,
RELEASE: kaghaz,1;
ASSIGN: takmil form one.NumberOut=takmil form one.NumberQut + 1:

takmil form one.WIP=takmil form one.WIP-1:NEXT(113$);

; Model statements for module: AdvancedTransfer.Route 139 (Route 139)

1138

1

1

ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 102 (form two)

108$
1591%

1

STATION, form two;
DELAY: 0.0,,VA:NEXT(1159%);

; Model statements for module: BasicProcess.Process 74 (takmil form two)

1158

ASSIGN: takmil form two.NumberIn=takmil form two.Numberin + 1:
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takmil form two.WIP=takmil form two.WIP+1;
1595% QUEUE, takmil form two.Queue;
1594% SEIZE, 2,VA:

kagahz,1:NEXT(1593%);

1593% DELAY: Uniform(1,5),,VA,
1592% RELEASE: kagahz,1;

1640% ASSIGN: takmil form two.NumberOut=takmil form two.NumberOut + 1:

takmil form two.WIP=takmil form two.WIP-1:NEXT(1169%);

1
1

;. Model statements for module: AdvancedTransfer.Route 140 (Route 140)

116$ ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 103 (form four)

1

109% STATION,  form four;
1645% DELAY: 0.0,,VA:NEXT(118%$);

)
1

;. Model statements for module: BasicProcess.Process 75 (takmil form 4)

118% ASSIGN: takmil form 4.NumberIn=takmil form 4.Numberin + 1:
takmil form 4.WIP=takmil form 4 WIP+1;

1649% QUEUE, takmil form 4.Queue;

1648% SEIZE, 2,VA:
kaghaz,1:NEXT(1647$);

1647% DELAY: Uniform(1,5),,VA,

1646% RELEASE: kaghaz,1;

1694$ ASSIGN: takmil form 4.NumberOut=takmil form 4.NumberOut + 1:
takmil form 4.WIP=takmil form 4. WIP-1:NEXT(117$);

;. Model statements for module: AdvancedTransfer.Route 141 (Route 141)

117% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 104 (form six)

1

110% STATION, form six;
1699% DELAY: 0.0,,VAINEXT(1199%);
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;. Model statements for module: BasicProcess.Process 76 (takmil form six)

119% ASSIGN: takmil form six.NumberIn=takmil form six.Numberin + 1:
takmil form six.WIP=takmil form six.WIP+1;

1703% QUEUE, takmil form six.Queue;

1702% SEIZE, 2,VA:
kaghaz 6,1:NEXT(1701%$);

1701$ DELAY: Uniform(1,5),,VA;

1700% RELEASE: kaghaz 6,1;

1748% ASSIGN: takmil form six.NumberOut=takmil form six.NumberOut + 1:
takmil form six.WIP=takmil form six. WIP-1:NEXT(1203%);

1
1

; Model statements for module: AdvancedTransfer.Route 142 (Route 142)

i20$ ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 105 (form seven)

)

111% STATION, form seven;
1753% DELAY: 0.0,,VAINEXT(122%);

1
1

; Model statements for module: BasicProcess.Process 77 (takmil form seven)

122% ASSIGN: takmil form seven.NumberIn=takmil form seven.Numberin + 1:
takmil form seven.WIP=takmil form seven.WIP+1;
1757% QUEUE, takmil form seven.Queue;
1756$ SEIZE, 2,VA:
kaghaz 7,1:NEXT(1755%);

1755% DELAY: Uniform(1,5),,VA;
1754% RELEASE: kaghaz 7,1;

1802% ASSIGN: takmil form seven.NumberOut=takmil form seven.NumberOut + 1:

takmil form seven.WIP=takmil form seven.WIP-1:NEXT(121$);

;. Model statements for module: AdvancedTransfer.Route 143 (Route 143)

121$% ROUTE: SecondsToBaseTime(rt),SEQ;

; Model statements for module: AdvancedTransfer.Station 43 (enterance 8)

1

127% STATION, enterance 8;
1807% DELAY: 0.0,,VA:NEXT(130%);
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; Model statements for module: AdvancedTransfer.Route 52 (Route 52)

130% ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 44 (peymankaran)

128% STATION, peymankaran;
1810% DELAY: 0.0,,VA:NEXT(126%);

)
)

; Model statements for module: BasicProcess.Process 31 (peymankari)

126% ASSIGN: peymankari.NumberIin=peymankari.Numberin + 1:
peymankari.WIP=peymankari.WIP+1,;

1814% QUEUE, peymankari.Queue;

1813% SEIZE, 2VA:
peyman,1:NEXT(1812$);

1812% DELAY: Uniform(0.5,15), VA,
1811% RELEASE: peyman,1;

1859% ASSIGN: peymankari.NumberOut=peymankari.NumberOut + 1:
peymankari.WIP=peymankari.WIP-1:NEXT(131$);

;. Model statements for module: AdvancedTransfer.Route 53 (Route 53)

131% ROUTE: SecondsToBaseTime(rt),SEQ;

;. Model statements for module: AdvancedTransfer.Station 45 (exit 8)

129% STATION, exit 8;
1864% DELAY: 0.0,,VAINEXT(90$);

; Model statements for module: AdvancedTransfer.Route 119 (Route 119)

90% ROUTE: SecondsToBaseTime(rt),SEQ;
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